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PHYSICAL EDUCATION
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. In Beijing Olympics, Michael Phelps
broke the record of
(A) Mark Spitz
(B) Wilson Cherian
(C) lan Thorpe
(D) Rolland Matthews

2. Which one of the following pair is
correctly matched ?

(A) Impulse isthe - Force and
product of distance

(B) Sagittal axisis - Sagittal
perpendicular plane
to

(C) Linear motion - Centric
IS created by force

(D) Nature of — Perfectly
collision elastic
during kicking collision
a ball

3. Select the correct choice :
Haemoglobin is found in
(A) Red Blood Corpuscles (RBC)
(B) White Blood Corpuscles (WBC)
(C) Platelets
(D) Bone marrow

4.  The motion of a pole vaulter in
downward direction after clearing the
bar is an example of
(A) Regular motion
(B) Regularly accelerated motion
(C) Decelerated motion
(D) Irregularly decelerated motion

5. Select the correct option :
A skill where there is time to prepare,
preview the situation and completely
control the movement is termed as :
(A) closed skill
(B) self-paced skill
(C) mixed paced skill
(D) externally paced skill
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10.

11.

12.

The National Plan of Physical
Education was  published by
Government of India in

(A) 1956 (B) 1957

(C) 1958 (D) 1959

Newton’s Third Law of Motion can
be primarily used to explain :

(A) Running and jumping

(B) Throwing and catching

(C) Kicking and hitting

(D) Bowling and batting

Which of the following Vitamins is
available from Sun rays ?

(A) Vitamin A

(B) Vitamin B

(C) VitaminC

(D) Vitamin D

Transition period in training cycle
aims at

(A) Recovery

(B) Peaking

(C) Rehabilitation

(D) Super compensation

If we toss three coins, probability of
three heads will be

(A) 1/8 (B) 2/8

(C) 3/8 (D) 4/8

When the reliability and validity of a
test have already been established, it
is called

(A) Objective test

(B) Teacher-made test

(C) Standardised test

(D) Subjective test

Which of the following is against the
principles of organisation ?

(A) Overlapping of authority

(B) Proper communication

(C) Proper decentralisation

(D) Delegation of power
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13.

14.

15.

16.

17.

18.

How much protein a working woman
should take everyday ?

(A) 27gm (B) 46gm
(C) 37gm (D) 50gm
The first institute in India to

propagate the cause of indigenous

physical activities is

(A) YMCA, Madras

(B) LNIPE, Gwalior

(C) H.V.P. Mandal, Amravati

(D) Punjab Government College of
Physical Education, Patiala

Which one of the following is not a
research tool ?

(A) Stop watch

(B) Video camera

(C) Questionnaire

(D) Survey

The ambit within which the sports
management must not perform is
generally referred to as

(A) Evaluation in Sports

(B) Innovation in Sports

(C) Sphere of Sports Management
(D) Leadership in Sports

Advantages of Interschool sports are :

l. Development of proficiency in
skills

[1.  Overemphasis on winning

I1l. Less emphasis on mass
participation

IV. Development of high level of
physical fitness

Find the correct combination :

Codes :

(A L1 (8) 1,11

< LIV D) 1,1V

Which of the following combination
of food components does not produce
Heat and Energy in the body ?

l. Carbohydrates

Il. Vitamins

.  Water

IV. Lipids

Select the correct answer :

(A) &I B) 1&Il
©C) n&iv D) &IV
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19.

20.

21.

22.

Select the correct order of

arrangement  of the following

anatomical structures in descending

order of their locations :

(A)  Xiphoid process, Glenoid cavity,
Coracoid process, Acetabulum

(B) Glenoid cavity, Xiphoid process,
Acetabulum, Coracoid process

(C) Coracoid process, Glenoid
cavity, Xiphoid process,
Acetabulum

(D) Acetabulum, Xiphoid process,
Glenoid  cavity, Coracoid
process

It is alleged that Istanbul lost the bid

to host 2020 Summer Olympic Game

mainly due to these reasons :

l. Geopolitical uncertainties in
neighbouring country

Il. Poor presentation by their
officials

I1l.  Lesser economic resources

IV. Unsure of ability to provide
required standard of facilities

Find the correct combination :

Codes :

(A &IV (B) 1&IIl
(C) n&l (D) IV&I
Professional ethics in  physical

education includes :

l. Dedication to profession
Il.  Physical efficiency

I1l.  Sociability

IV. Moral values

Find the correct combination :

Codes :

A L (8) M, 1

©C) LIv (D) 1,1V
Match List — | with List — Il and

select the correct option from the
codes given below :

List -1 List - 11

I. Saliva 1. Mouth
I1. Hydrochloric 2. Stomach

Acid (HCI)
I11.Bile 3. Liver
IV.Insulin 4. Pancreas
Codes :

I I i v
(A) 4 3 1 2
(B) 1 4 2 3
C) 1 2 3 4
(D) 2 1 3 4
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23.

24,

25.

26.

The process of super-compensation
involves

l. Optimum level of fatigue
Il.  Administering load

I1l. Rest and Recovery

IV. Compensation of energy
Arrange the above in
sequential order :

proper

Codes :

(2N 1 1 P 1 R AV
|) I, I, 1, v
(C) I, 1v, |, I
(D) IV, 1, 1, |

Select the correct combination of
guidelines to be followed for asking
questions during interview from the
codes given below :

Guidelines :

l. Questions should be ambiguous.

Il.  Questions should be unbiased.
I11.  Questions should be relevant.
IV. Questions should be short.
Codes :

(A) I, 1land Il

(B) I, Iland IV

(C) I, IVandl

(D) IV, land Il

The test, measurement and

evaluation are used to perform the
following functions :

l. Determining status

Il.  Making comparison

1. Making appreciation

IV. Giving warning

Find out the correct combination
from the following codes :

Codes :
A IL,om @B I, v
C ) u, m d |, I

Find out the correct sequence from
the codes given below :

Following are the main functions of
sports management :

l. Controlling

Il.  Coordinating

I11.  Planning

IV. Organising

Codes :

(A I, 1, v, |

B) i, v, 1, 1

C I, 1,ou v

(D) IV, I, 1, 1
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27.

28.

29.

30.

Use the correct code given below :
Arrange the skeletal muscles
sequentially in descending order :

I.  Sterno mastoid

Il.  Trapezius

I11.  Quadriceps

IV. Gastrocnemius

Codes :

(A 1, I, 1, 1V
B) I, I, M, Vv
(C) I, 1v, 1, I
(D) v, 1, 1, |1

Carron has identified two basic
systems for conceptualizing the
leadership process. They are :

l. Influence system

Il.  Social system

1. Reward system

IVV. Power system

Find the correct combination :

Codes :
(A) landll (B) landll
(C) MNand IV (D) MHland IV

The underlying factors governing
training of advanced athletes are :

l. Growth and development

I1.  Environmental factors

I1l. Nature and volume of previous

training
IV. Talent
Find the correct combination :
Codes :
(A) 11l (B) I, IV
(C) 1,1V (D) I, 1

Given below are some stages of
acquisition of knowledge. Arrange
them in a sequential order from the
codes given below :

I.  Analysis Il.  Information
1. Evaluation IV. Application
Codes :
A L, H, v
B) I, L, 1v, I
<€ v, I, u,
o) 1, 1, v,
D-47-13
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31.

32.

33.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Physical Education
is not only limited to physical
development.

Reason (R) : Competitive Sports
stress only on winning a
competition.

Which one of the

statements is correct ?

(A) Both (A) and (R) are true and (R)
Is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
|(SA )not the correct explanation of

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

following

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : Circulatory system is
also known as the system of
Transportation.

Reason (R) : Heart sends O, and

digested food material to every
cell and receives CO, & wastes

from cells.
In the context of two statements,
which one of the following
statements is correct ?
(A) Both (A) & (R) are right and (R)
is the correct explanation of (A).
(B) Both (A) & (R) are right, but (R) is
not the correct explanation of (A).
(C) (A)isright, but (R) is wrong.
(D) (A) iswrong, but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Type — IlI lever
provides advantage in form of
speed.

Reason (R) : Type Il lever has
longer resistance arm.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-11

34.

35.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : Psychological core
of personality is the deepest

component  which includes
attributes,  value, interests,
motives and self-worth of an
individual.

Reason (R) : Psychological core of
personality is dynamic and
external and make adjustment
to the environment.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both are true and (R) is the
correct explanation of (A).

(B) Both are true, but (R) is not the
correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion  (A) Curriculum
development at elementary
school level should concentrate
on perceptual motor learning
and movement education.

Reason (R) : Education is a life long
process, and we continue to
learn from experience
throughout our lives.

In the context of two statements, which

one of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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(A) 3T TEL HT HRT (R) FHeT T E |

atfiamer (A) : 2Rl fefer Tifd o '
ﬁwww%

HROT (R) : 2129-111 fora¥ st uferier o
I Bl € |

ST 3 FEAT % G ° Fefettad o

T BT T el SWE ?

(A) (A)aw(R)aﬁuﬁ%aﬁr(R)
(A) T el TEHIT § |

(B) (A) @ (R) 3+ ®@l & W
(R), (A) T Tel TIEH0T T& & |

(C) (A) W& e == (R) T ¢ |

(D) (A) 7o € W= (R) Tl & |

D-47-13

34, d9 T 9w fjw W€ | TH &

35.

3TTReE (A) T T T HROT (R) Fel

TE |

AfUFHeT (A) : IS HT TGRS
I TEE dF U gIN TeH §
e i sAfwed o
T 3MTeH-371 WiAferd € |

HROT (R) : Al H TS IS
T T 9T § 3R uieEsT &
1Y FHSE TS AT € |

ST ST Skl & Ty H ffefad

B AT ?

(A) THT T € AR (R), (A) H Tl
TR |

(B) = WEl €, W (R), (A) & W&l
TIEHIOT TET & |

(C) (A) W& e = (R) T ¢ |

(D) (A) 7o & =g (R) Wl & |

T gt A U U E, U e (A)

3 & HRT (R).

arfirme (A) : et foeme™ &
T W UIST=AT % (e i Tegel
TS T AfedT T For fRreT
TR Hid e AT |

AT (R) o Seua
T el URAT & 9 &9
SeFuRid o9 3Tel § dRad
wAE |

AT HET % e | FEfarad § d B

T AT TET & ?

(A) (A) &R (R) IH Tl € 3R (R),
(A) FT TET TEHT |

(B) (A) 3R (R) I+ Wl €, g
(R), (A) T T&l TILHT Tal ¢ |

(C) (A) W&, g (R) T & |

(D) (A) 7Tera €, T (R) W & |
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36.

37.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Norms of a standard
test provide means to assess the
performance of an athlete.

Reason (R) : Values of norms of a
standard test can not be
changed by any one.

In the context of the above
statements, which one of the
following is true ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : First-aid and safety
education should be the part of
curriculum of school education.

Reason (R) : Knowledge of health
and safety skills are required to
face any emergency situation in
life.

In the context of the two statements,
which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (R)istrue and (A) is false.
(D) (A)istrue and (R) is false.

Paper-11
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38.

39.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : Degrees of freedom
are the numbers of scores in a
sample that are free to vary.

Reason (R) : ‘t’-value to test the
level of significance depends
on degrees of freedom.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Blood pressure is
also used as a guide to the
efficiency of the heart and
blood vessels. Normal values
are 120 mm/80 mm.

Reason (R) : At systole, when the
heart thrusts from the left
ventricle into the aorta, the
pressure is 120 mm. At
diastole, the left ventricle is
being refilled, the pressure is
80 mm.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are right, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are right and
(R) is the correct explanation of
(A).

(C) (A)isright, but (R) is wrong.

(D) (A) iswrong, but (R) is right.
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36.

37.

e 31 gt fw e €, w6 SR

(A) 3R TE I HROT (R) FeT T8 |

FAWHAT (A) | TH AEF WET F
AMEUE U REerel & UgeH i
oA G B ATET ITTeH
F & |

FHROT (R) : T HFH W0 & IS
% godi &l fRdl & ot gRT SEel
TEI ST Hehel |

ST Sl T % ged | Feetad

T B AR E?

(A) (A) T (R) IHT T € @ (R),
(A) T el TEHIT § |

(B) (A) @ (R) Al @& € W
(R), (A) T TeT TIEH0T T& & |

(C) (A) Tl e, = (R) T & |

(D) (A) 7o &, W (R) WeI & |

T 1 FE KU MU, UH w e
(A) 3R TE I HROT (R) FeT T ¢ |
arfipe (A) : Taemera ot greere=n
T e q9T g
ToTeqT SIPT 2T e |
HROT (R) : So= T 3T el STk
ferfaat =1 @m w03 & fow
WA T G HIel B A
T =T |
ST 3 FET & G ¥ Fefefad §
Y HF T T T ?
(A) (A) @ (R) I Wl & 3R (R),
(A) T TE TEHT E |
(B) (A) @ (R) IHI @& € W
(R), (A) T T& TTLIHT &l ¢ |
(C) (R) Wl & (A) Terd ¢ |
(D) (A) W& & @@ (R) Terd & |

D-47-13
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38.

39.

= @ e oM E T W

M (A) 3R T Hl HROT (R) Fel

T |

e (A) ; o @ A, R
S gRafad 89 o foT e g € |

HRUT (R) : QEIhaT & X I IR0
FH % fu A Aoy’ e H
AT TR ST Bl & |

U I ol & 9oy H e

T B AT E ?

(A) (A) T (R) 3HT W &, W (R),
(A) T TE TILHT TEH ¢ |

(B) (A) @ (R) =1 Wel € 3% (R),
(A) T el TEHIT § |

(C) (A) Wl & =] (R) 7o & |

(D) (A) T &, W (R) W1 ¢ |

T 3 Fo fgw e € | U @ AR

(A) 3T T 1 FROT (R) el TN E |

AT (A) : TZT qAT I AlTHIS
I GHAT I AT & [T T g
U UNIRYS Bl § | QR o
T 120 mm/80 mm T & |

FHRUT (R) : 3HeH & 999 T o
Tl U T gohordl & 39 99T
T 19 120 mm BT & | WER0T
[T S a7 Ford o & SR ST
& A9 Yo 319 80 mm BT |

SYIF THT HeAT F G ¥ Feferad

T & 9T el S E ?

(A) (A) 3T (R) IF W& & W=
(R), (A) T T&l TILEHT Tal ¢ |

(B) (A) ¥R (R) qHl @l € 3R (R),
(A) FT TET TEHT |

(C) (A) T ¢, W< (R) Tod & |

(D) (A) TTer &, W= (R) W& |
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40.

41.

42.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : WADA coordinates
doping programme at the
National and International levels.

Reason (R) WADA works to
protect athletes from the
harmful effects of

performance-enhancing drugs
and strives to create an equal
opportunity in athletic
competition.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)

is not correct explanation of (A).
(C) (A) istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Arrange the following schemes in a

sequential order based on their
chronological origination :

l. NSS Il.  NDS

1. NCC IV. NPFP
Codes :

(A) I, v, I, I

@) I, 1, Hu, v

(O I I P | | P AV |

(D) 1V, U, 1, I

Which one of the following pairs is
not correctly matched ?

(A) Rejection  of - Type-I
Null hypothesis error
when H_ is true

(B) Acceptance of - Type-lII
Null hypothesis error
when Hj s
false

(C) Acceptance of - Type-l
Null hypothesis error
when H_ is true

(D) Rejection  of - Type-I
Null hypothesis error

when H, Is
false
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43.

44,

45.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
I. Guts Maths 1. Sweden
[1. Per Henrik Ling 2. Denmark
I11. Franz 3. England
Nachtegall
IV.Archibald 4. Germany
Maelaren
Codes :
I I i v
(A) 1 2 3 4
(B) 4 1 2 3
C) 2 3 4 1
(D) 3 4 1 2
Match List — I with List — Il and

select the correct answer from the
codes given below :

List—1 List - 11
I. Systemic 1. Supply of O, &
circulation Nutrients to all

parts

Supply of O, &
Nutrients to
Heart muscle
Purification of

Il. Coronary 2.
circulation

[11.Pulmonary 3.

circulation blood

IV.Renal 4. Separating
circulation urine from

blood

Codes :
I I 11\

(A) 4 3 2 1

(B) 2 1 4 3

(C) 3 4 1 2

(D) 1 2 3 4

Match List — | with List — Il and

select the correct option using the
codes given below :

List—1 List—11
I. Insight Theory 1. Motivation
I1. Attribution 2. Aggression
Theory
[11.Drive Theory 3. Personality
IV.Psychodynamic 4. Learning
Theory
Codes :
([ | | 1 Y/
A 1 4 3 2
B) 2 3 4 1
C 4 1 2 3
(D) 3 2 1 4
D-47-13



40. 9 T g9dT [GT T & | U ol 3TIRe

(A) 3T TEL T HRIT (R) FeT T E |

Ao (A) © WADA TR der
T T W ST HrishHl
T THSTT FAT T |

FHROT (R) : WADA TeA-UGTH g™ ared
ARE TSR & eI UaE °
faeTfedt o M & & q°r @
TRt § 99 SfaE) AT &
forT v € 1

A

(A) (A) @ (R) SHI F&l € 3R (R),
(A) T el TEHT & |
(B) (A) T (R) =i Wl & == (R),
(A) T el TETHT Tl & |
(C) (A) W g, W= (R) T & |
(D) (A) T &, W (R) WEI & |
41, TrAfaRiad FSHIeT $ SO 3RY 6T
ST % FHITHATTER A iU ;
. W . wAsiT™
., wIdEra V. w9 usar
&<
(A) LIV, I,
B) I, I, 1, IV
€ 1, n, v, |
D) IV, 1, 1, |
42. frfafea & 9 ®F @1 g9 gafera @
T2
(A) FRIFROTT WEFRFeaT — WoT Teh
® A@Hd HET B A
S H, T |
(B) iRl wrapedeT — fgeia
W WIHR BT T THE B
H, s & | Ei
(C) FrreRo — TIY UHR
PIEETeC) Eal e
PR HAT 5
H, S &t |
(D) FRreRO — U9 UHR
PlEETn| o HIC
SATHR BT 5T
H, s@ 2l |
D-47-13
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43.

44,

45.

G-l A GE-ll & 9 gAfed s

T = 63 T e W W S g
e - | =it - 1
| T e 1. whe
Il. W AR o 2. S99k
1. 3RTST F=rTet 3. IS
|V, enfshaTes 4. ST
o=
%
| - m v
A1 2 3 4
B 4 1 2 3
C 2 3 4 1
D)3 4 1 2
G-l A GE-ll & 9 gAfed it
T A 53 T e W el SR g
et - | et - |1
| waEo 1w =
RE=RoT 0, 3R U
Tt Bt 3R
. T-UREEROT 2. T_-URM W O
AR Uiuw
Tl Bt 3R
1. Fet 3. BEX g
IREEROT
V. g6 4, TR G 7T H
IRE=ROT ST AT
FT
| o m v
A 4 3 2 1
B 2 1 4 3
Cc 3 4 1 2
D1 2 3 4
G-l A G-l F 9 gAfed it
o e 52 T e W Tel SW I
T -1 e - 11
. o fasa — 1. SARBROT
Il TOR (95 — 2. 3RA
Il 3R fsa - 3. SAE
IV. AR s — 4. 3T
T
R | I [ | AV
A 1 4 3 2
B) 2 3 4 1
c 4 1 2 3
D) 3 2 1 4
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46. Match List — I with List — Il and
select the correct option from the

codes given below :

List— 1| List— 11
(Skill Test for) (Author)
I. Basketball 1. Hyde
Il. Archery 2. Brady
I11. Volleyball 3. Cornish
IV. Handball 4. Johnson
Codes :
I I i 1w
(A) 4 3 2 1
(B) 3 2 1 4
(C) 4 1 2 3
(D) 1 4 3 2
47. Match List — | with List — Il and
select the correct option using the
codes given below :
List—1 List— 11
I. Weight training 1. Speed
method endurance
Il. Interval Training 2. Strength
Method
I11. Continuous 3. Power
Training Method
IV.Plyometric 4. Basic
Training Method endurance
Codes :
I I " 1w
(A) 2 1 4 3
(B) 3 2 1 4
C) 1 3 4 2
(D) 4 1 2 3
48. Match List — | with List — Il and

select the correct answer from the

codes given below :
List— 1

I. Teaching career
opportunity

I. Coaching career 2. Adapted

List - 11
1. Health Clubs

opportunity Physical
Education
I11. Fitness and 3. Athletic
health related administration
career

opportunity
IV.Sports manage-
ment career
opportunity
Codes :
I
(A) 2 4
(B) 2 1
C) 1 2
(D) 4 3

4. Commercial
Sports Club

I\Jwblﬂz

I—‘-bCAJOO<

49.

50.

Match List — I with List — Il and
select the correct option from the
codes given below :

Paper-11
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List—1 List— 11
I. Iron 1. Proper thyroid
function
I. Sodium 2. Development of
strong bones
I11.Phosphorus 3. Functioning of
nervous system
IV.lodine 4. Formation of
haemoglobin
Codes :
I I " v
(A 1 2 3 4
(B) 2 1 4 3
) 3 4 1 2
(D) 4 3 2 1
Match List — I with List — Il and

select the correct answer from the
codes given below :

List— 1

I. Supervision
of
instructional
programme

I1. Supervision
of facilities
and
equipments

[11. Supervision
of Personnel

IV.Supervision

of Records
Codes :

I |
(A) 1 2
(B) 4 3
C) 2 3
(D) 3 4

P BADNW=—

List—11
1. Recruitment
or staffing

2. Performance
and honour
of athletes

3. Time table,
class
scheduling

4. Annual
maintenance
of playfield,
gymnasium,
swimming
pool etc.

v
4

1
1
2
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46. G-I H GA-I & T AT DHit
Wﬁ%gﬁjﬂ@@@ﬂﬁﬁqﬁﬁ:
— rht — 11
o
&rum)
|. ST=heder 1. g
1. %Jﬂéla 2.
1. Seteter 3. =T
WA LI 4, S
H
I I m v
(A) 4 3 2 1
(B) 3 2 1 4
) 4 1 2 3
(D) 1 4 3 2
47. G-I H GE-I & G GHld Hite
Wqﬁ%ﬁﬁﬂﬁ@@ﬂﬁwgﬁé
= - 11
. wﬁwwﬁr 1. T
. SR GRTeI0T 951d 2, 9
1. = feTeqor ugid 3. ¥ifery
|V Tl Uietetor 4. gord
TEId FeTeierar
H
I I i wv
(A) 2 1 4 3
(B) 3 2 1 4
C) 1 3 4 2
o)y 4 1 2 3
48. -1 H GA-II & I AT Hite
T = 57 T P H W S g
- | =it - 11
| feremor S o
g T FHTE
1. STSteTor SHiferhr- 2. SFHierd
g 1 HTER
1. TR e 3. EA-FT
e | ENIEEE]
eI Sifaeh-
g & TR
V. Ee yeee 4. EHE®
Sifarepr-gia & e T
AT
E T
) I 1| m v
(A) 2 4 1 3
B 2 1 4 3
C) 1 2 3 4
D)y4 3 2 1
D-47-13

49.

50.

15

G-l A GE-ll & 9 gAfed s

3 e 753 T3 e ¥ Wel SR g
= | = -
| e 1. TEI ATRITe FY
Il @ifeay 2. ool e @t
forepr
. ®ERRE 3. =1 aFf & H
IV.eTea 4, guietifed @l
CEE)
%
I I m v
(A) 1 2 3 4
B 2 1 4 3
C© 3 4 1 2
(D) 4 3 2 1
ALl G-I F QT GATd i
T e 52 T e W Wel W G
=i | = - |
| SFemeTd 1. wRar A
T T
TREETOT
I, gfewret v 2. faenfeat =
SUHIOT TSR qen
TREETOT qH
[l.MEehT BT 3. 9T HIROM,
TSRTOT Ezall
NEPISGHI
Vet 1 4. @t & H5M,
TSRTOT STATHET,
AT
Mg &
BllED
TEREE
FT
I I m v
(A) 1 2 3 4
(B) 4 3 2 1
© 2 3 4 1
(D) 3 4 1 2
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